DATABASE MANAGEMENT SYSTEM (DBMS)

1. ..........offers the ability to query the data and insert, alter, and delete tuples.
(A) Transaction Control Language (TCL)
(B) Data Control Language (DCL)
(C) Data Definition Language (DDL)

(D) Data Manipulation Language (DML)

D] H FAG FH SR UCH H GETAT FW, 9€ed SR geM #I
gudl YEH el ® |

(A) TSEH el was  (SLELTE.)
(B) Tl Fga oo (SLHLTA.)

(C) =@ fefem das (ShEiue.)
(D) =r IgelE s (SLuATE.)

2. What is an alternative name for a weak entity ?

(A) Dominant (B) Owner
(C) Child (D) Parent
FASR THE 1 dehfeuss AW N T 2

(A) sifiFe (B) W
(C) =mBee (D) We

3. The Fifth Normal Form is concerned with :
(A) Join dependency (B) Domain-key
(C) Multivalued dependency (D) Functional dependency
Ufmel WM w9 gefed @
(A) safgn fedsst o (B) EWA-mst |
(C) wedidegs fedsdt @ (D) wwFw feisdr ¥
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4.  When recovering from a failure :

(A) examination of each pair of physical blocks occurs

(B) examination of a specified pair of physical blocks occurs

(C) examination of the first pair of physical blocks occurs

(D) examination of the third pair of physical blocks occurs

AFAN W TIHH W

(A) fdw =dfwl # T&F SISt w1 ST B @

(B) #ifter sl &t wh fafde St 1 Stw wdt @

(C) difdeh =eifhl 1 Weell WSl *1 Si9 et @

(D) wifaer =eifhl 1 dEd St w g e @

5.  The Optical Disk technology utilizes :

(A) RAID (B) A laser beam
(C) DAT (D) Helical scanning
Afesa fe= a1 [ ) — HT YA F % |

(A) & (B) TH TSR oMW
(C) Siudl (D) efeshar T

(2)M-24001(TR)-D 2



GK/GA/E-GOVERNANCE

6. ‘Maru Mahotsav’, also known as Desert Festival, is celebrated in which region
of India ?
(A) Jaipur (B) Jaisalmer
(C) Kutch (D) Bikaner

‘i Teiga’, o) A welcda @ ™ 9 ft 9 o9 8, WRa 3 fEw

g5 H wAE S e ?
(A) AR (B) @R
(C) &3 (D) &R

7.  Who was the Chief Guest of the Republic Day 2024 celebrations ?

(A) Emmanuel Macron (B) Vladimir Putin

(C) Rishi Sunak (D) Benjamin Netanyahu
T feew 2024 WARE % gEA afafs w9 2

(A) THITA H (B) wemfere gfer

(C) =" gi* (D) SN Sa=TTE

8.  Karpoori Thakur was Chief Minister of which State of India ?

(A) Tamil Nadu (B) Karnataka
(C) Bihar (D) Rajasthan
FYH IHX YRA & 9 T H FgEHA 9 ?
(A) afFerrg (B) Hieh
(C) faer (D) TSEH

(2)M-24001(TR)-D 3 P.T.O.



9.  ‘Mabharishi Valmiki International Airport’ is located in :
(A) Banaras (B) Amritsar
(C) Bhopal (D) Ayodhya
‘mefd arerfifs simie we egr fem ® e
(A) RE ¥ (B) oA H
(C) 9 o (D) emenm o

10. In which cities 2024 and 2028 Olympics shall be held ?
(A) Paris (2024) and Los Angeles (2028)
(B) Paris (2024) and Barcelona (2028)
(C) London (2024) and Beijing (2028)
(D) Paris (2024) and Gold Cost (2028)
2024 SR 2028 H oAifym fRd wed o ermifwa fed wEm 2
(A) 9RE (2024) @R «ifg ufSesm  (2028)
(B) U@ (2024) &R wifdein (2028)
(C) @& (2024) @R s (2028)
(D) uf@ (2024) R Ties W= (2028)

11.  Which of the following decreases in Dengue fever in the human body ?
(A) Haemoglobin (B) Sugar
(C) Platelet (D) Water

(2)M-24001(TR)-D 4



IHa YRR H 2 qEr frefafed § @ fRwsl & owa €2
(A) BHrarfsH (B) ¥R
(C) wieeie (D) W

12. Who is the Chairman of the Rajya Sabha ?
(A) The Prime Minister of India
(B) The Leader of the Opposition
(C) The President of India
(D) The Vice-President of India
[FET H1 GO HEA T2
(A) 9Rd 1 GEEHA
(B) faus =1 =a
(C) 9Rd <1 Uegufd
(D) ¥Rd 1 IYUURd

13. Tropic of Cancer passes through which of the following groups of Indian States?

(A) Gujarat, Madhya Pradesh, Chhattisgarh, Manipur

(B) Rajasthan, Jharkhand, West Bengal, Mizoram

(C) Uttar Pradesh, Madhya Pradesh, Bihar, Jharkhand

(D) Maharashtra, Chhattisgarh, Odisha, Andhra Pradesh

#% @ fefafed andm = % feg 99 9 @ eRdt ® 2
(A) TSN, " WRYI, UM, WO

(B) USEIM, wR@E, uiv=d e, i

(C) IW Wa¥l, #eA Wy, foeR, @R@E

(D) TeRTY, BWEg, offewm, oAy wew

(2)M-24001(TR)-D 5
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14. What was the immediate cause of the Revolt of 1857 ?
(A) Heavy taxation on Indian products
(B) Introduction of Enfield guns
(C) Annexation of Oudh

(D) Demolition of traditional handicrafts that hit poor peasants and artisans

1857 & fagle =1 diehlfdles &ROT &1 o1 ?
(A) 9RAE IOR W O9R FHAEE
(B) Tihies dghl w1 U=

(C) 3@y =1 faem@
(D) URufe e&i¥ed 1 foeaw, oo e feudl AR SR R gefEa
fean

15. What does UIDAI stand for ?
(A) Unique Identification Authority of India
(B) Uniform Identification Authority of India
(C) Union Identification Authority of India
(D) None of the above
JIARETE w1 o o 7 2
(A) sRdr faftre ggem wifye
(B) 9RA™ HHM UEHH WITEeROl
(C) 9RAE 99 UgaH  UIfeehio

(D) W= H ® HE Tl

(2)M-24001(TR)-D 6



16. Silence : Sound :: Darkness :
(A) Blindness
(C) Light
09 @ & o SHER

(A) 3T

(C) W

17. If *x* means ‘+’
“+’ means ‘—’

“+’ means -+’

And ‘-’ means ‘x’,

then 14 x 4 + 70 + 10 -2 = ?

(A) 4

(C) 30

A o wmoad § o4

o oY B oo

o ool g

AR = w1 H{Yg T %,

a9 14 x4 +70+10-2=72°

(A) 4

(C) 30

(2)M-24001(TR)-D

(B) Moon

(D) Shadow

(B) sl

(D) B

B) 15

(D) 33

(B) 15

(D) 33

7 P.T.O.



18. Direction : Choose the correct alternative from the given ones that will complete

the series :

3,7,23,95 2

(A) 128 (B) 162

(C) 479 (D) 575

fder : fRu U faswedi & 9 o® WS fohew gfw S gwen w1 @ owem:
3,7, 23,95, 2

(A) 128 (B) 162

(C) 479 (D) 575

19. Find the missing term :

6 (1520
41 5
5120
51165 2
(A) 80 (B) 90
(C) 100 (D) 120
q@d 9 A BV
1520
41 5
5120
51165| 2
(A) 80 (B) 90
(C) 100 (D) 120

(2)M-24001(TR)-D 8



20.

21.

If ‘air’ is called ‘green’, ‘green’ is called ‘blue’, ‘blue’ is called ‘sky’, ‘sky’ is
called ‘yellow’, ‘yellow’ is called ‘water’ and ‘water’ is called ‘pink’, then what
is the color of clear sky ?

(A) Sky (B) Blue
(C) Yellow (D) Water
g ‘A’ W ‘B0’ wEl W@ ®, ‘80 A C‘Hien’ wer S €, ‘en’ Wi
‘e’ wer S 2, ‘erEErl’ @ C‘den’ wer W e, ‘fen’ ® ‘S’
FE S T AR ‘S’ H e’ wel Wl €, dl T SRl Gkl Wl

22
(A) SAHATHT (B) e
(C) diem (D)

Direction : Study the following Pie chart carefully and answer the question. Given
below is the Pie chart which shows the percentage distribution of the five types

of ice-creams available in an ice cream parlour :

Total number of ice-creams is 550

N

Chocolate
32%

Caramel
12%

Butter Scotch
18%

= Vanilla Chocolate = Strawberry = Butter Scotch s Caramel

Find the central angle for Chocolate flavored ice-cream :
(A) 117.5° (B) 115.2°

(C) 112.8° (D) 108.5°

(2)M-24001(TR)-D 9 P.T.O.



frder : fefafed o8 =@ w1 erEgEE e T SR W # SW
A | A uE 9 fewm T @ W U EESH ek § SUae UiE UK
F SFEHE w1 Ue foaaor A 0

AT W F|A WA 550 7 |

Caramel

12% .

Butter Scotch
18%

s Vanilla Chocolate = Strawberry = Butter Scotch s Caramel

dfchele @IE dlcil 3EUHRE & fdu HgEF HOT Jd ki@
(A) 117.5° (B) 115.2°

(C) 112.8° (D) 108.5°

22. A man from point A walks 20 metres to the North, then turns left and walks
40 metres again turns left and walks 20 metres. At last he turns right and walks

20 metres to reach at point B. Find distance and direction from point A to B :

(A) 20 m /West (B) 40 m/East

(C) 60 m/West (D) 60 m/East

(2)M-24001(TR)-D 10



23.

24,

fig A 4 TH =fth S o AR 20 WX werar 7, fRC aEfi o gear @
AR 40 WX wear € fo @ @R a1 € SR 20 WX wWa@ € 1 oA
o gg q¢ gear ¢ R fig B W wewd & faw 20 W werar ¥ 1 fag
A9 B Tk & 30 R fgm 9@ =

(A) 20 Hieyafray (B) 40 Hieygd

(C) 60 Hieydfyay (D) 60 HeYYH

When Ajay saw Sonu, he recalled, “He is the son of the father of my daughter’s

mother.” Who is Sonu to Ajay ?

(A) Brother-in-law (B) Brother

(C) Cousin (D) Nephew

T9 SF 4 WM K <@ d SH AR A, ‘a8 WG S &t W% faar
JT T 1" e & fau W wM T ?

(A) g (B) &

(C) ==0 = (D) ST

Direction : The question is based on the following arrangement of letters/numbers/

symbols. Study carefully and answer the question given below :
SHB3%YTIL4SE6FIRM@A#BD28U&C

If all the numbers, vowels and the symbol ‘&’ are removed from the above
arrangement, which of the following will be the eighth element from the left

end?

(A) L B) @
(C) M (D) R

(2)M-24001(TR)-D 11 P.T.O.



25.

o : yw seRideneiydsl w5 fefafen sEwen W et @ 1 ergEs

doEE Hife R A fiu oy # sw o
SHP3%TIL4ASE6FIRM@A#BD28U&C

A Sudad ogewen @ @t F, WR SR wdle ‘& wA fRu W, @ a=d

BR ¥ oedl da frefafed d 9§ FEw em ?

(A) L B) @

) M (D) R

If a mirror is faced on line AB, then which of the answer figures is the right
image of the given figure ?

Question Figure:-

A

S
B

Answer Figures:-

Zq Ll Fg -

(a) (b) (©) (d)

B\

(A) (a) (B) (b)

(©) (o) D) (@

(2)M-24001(TR)-D 12



26.

qff ©F AU w1 g@ W AB HI @R ?, d IW HfaA H W e
apfa ¢ T opfa w1 wE widafam € 2

W ATRIA :-
A
ST ATH i~

%‘_ Il FQ w

(a) b (0 (d)

E\

(A) (a) (B) (b)

(€) (© (D) (@)

Which of the following mobile payment applications is developed by the National
Payments Corporation of India based on UPI ?

(A) MYGOV (B) BHIM

(C) UMANG (D) PhonePe

frafafed & @ wFw dEEa gOE dfemyd 9RdE TgE e e g
UPI W euifia foswfga fean mn 2 2

(A) MYGOV (B) BHIM

(C) UMANG (D) PhonePe

(2)M-24001(TR)-D 13 P.T.O.



27. The use of Information Technology (IT) to improve the ability of government to

address the needs of a society is known as :
(A) e-Business
(B) e-Administration

(C) e-Governance

(D) e-Marketing

frel wHS ® STERFSRAE Bl U HH h AT WEHR K gHA W GEUR &
fau gom dmEifer (sEA) & Swm s wkE WA g o

(A) 3-faoma
(B) E-wemad
(C) 3-Terd
(D) ¥-wrhfen

28. ‘e-RaKAM’ portal is related to the welfare of :
(A) Mining Industry
(B) Students
(C) Income-Taxpayers
(D) Farmers
‘e-RaKAM’ TRa frud weamr ¥ wafim € 2
(A) @ SE
(B) Bl
(C) SISt
(D) fewami

(2)M-24001(TR)-D 14



29. What is the full form of NPTEL in the field of education ?
(A) National Program on Technology Enhanced Learning
(B) National Program on Television Education and Learning
(C) Natural Programming of Telescope and Electronic Lifecycle
(D) None of the above
foem & & ¥ NPTEL = Yo ®9 &M € 2
(A) National Program on Technology Enhanced Learning
(B) National Program on Television Education and Learning

(C) Natural Programming of Telescope and Electronic Lifecycle

(D) SWF & A HE &

30. Which state government launched ‘e—Adhigam” scheme to provide tablets to five

lakh students ?
(A) New Delhi (B) Haryana

(C) West Bengal (D) Odisha

59 59 @R A UE dE BE H daoie SUAs #H & fau ‘g-erfim!

IS URET I off ?
(A) T8 feeett (B) =fmm

(C) dufyem =ma (D) sufesm

(2)M-24001(TR)-D 15 P.T.O.



MS-OFFICE

31. Microsoft Word is a/an............... software.
(A) Application (B) Compiler
(C) System (D) Programming
HIEBI—T‘NT'QE GEreeereesssessenaens ETCIEa'éII'{ % |
(A) T (B) FrIEeR
(C) fowA (D) wmfHT

32. Which is not in MS Word ?
(A) Italic (B) Magic tool
(C) Font (D) Bold

WUE.-ge § HiAd qEl s § ?

(A) zfer (B) v =
(C) wI=e (D) dice

33. ............cannot be used to work in MS Office.
(A) Joystick (B) Scanner
(C) Light Pen (D) Mouse

RETE S ¥ wm wE F fawe 1 IYANT Al fEAr S gkar |
(A) wafes (B) TR

(C) @mge U (D) TR=™

(2)M-24001(TR)-D 16



34,

36.

In Microsoft Word, what is the primary purpose of a macro ?
(A) To insert hyperlinks in a document

(B) To automatically format text based on predefined styles
(C) To create pivot tables in a spreadsheet

(D) To record and automate a series of repetitive tasks

TRHEETR o€ § U@ &1 wufis e #® g 2

(A) frdt e o sEwids s

(B) gEfyifid dferl & MR W W # WeEfad €9 ¥ WEAd H

(C) Tevfie ® fugle 2@ a@ M

(D) EUT WM A WAl H Th gEell W Rwle R wEifed

The...............works with the standard Copy and Paste commands.
(A) View tab (B) Paragraph dialog box
(C) Office Clipboard (D) Dashboard
----------------------- ek Hd AR TR wHE ® WY HME kIl € |
(A) & A (B) W% eE@r diem
(C) sifrw feervare (D) v

What is the blank space outside the printing area on a page ?

(A) Clipart (B) Margins

(C) Header (D) Footer

frdl g8 W Tt gEw &9 w1 e W owm § 2
(A) foreruemé (B) s

(C) & (D) FH

(2)M-24001(TR)-D 17
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37. Which of the following is an example of page orientation ?
(A) Landscape (B)  Subscript
(C) Superscript (D) A4
frafafed & ¥ #F@ U9 ARQYE ®1 wF I T O?
(A) fewhy (B) wafm=
(C) gwfere (D) A4

38. Formatting is performed on :

(A) Text (B) Dashboard
(C) Menu (D) Clipboard

WS H S € e

(A) TFLE ™ (B) <yErE W

(C) ¥ W (D) fomEE W

39. Which of the following softwares is used for making a resume ?
(A) MS Excel (B) MS Word
(C) Dev C (D) Java
m TR @ fau frefafed § ¥ PR SRR W Swim e oS 82
(A) TATH. THA (B) TwHTH.-TE

(C) Dev C (D) e

(2)M-24001(TR)-D 18



40. Press...............to open the help window in the MS-Word document.

(A) Fl (B) F2
(C) F9 (D) Fll
THUE.-gE WES § ogeEd fdel @ & fawe T |
(A) Fl (B) F2
(C) F9 (D) F11

41. What is the gutter margin ?
(A) Margin that is added to the left margin when printing
(B) Margin that is added to the right margin when printing
(C) Margin that is added to the binding side of the page when printing
(D) Margin that is added to the outside of the page when printing
T i w=m g ?
(A) @8 WS S qg0 od gaF 9@ wifsH o Sier Wi @
(B) @& WifSH S WU Hd WHA TE AN W oWl S @
(C) @& " i §gu & OHF U8 H aEien ud H Sig S @
(D) 98 WM S G0 & §HA Y8 & Al Wil Wi @

42. Which enables us to send the same letter to different people ?

(A) Macros (B) Template

(C) Mail merge (D) Menu

T TH B UF S-S @rl S 9eH § e 9¥d oA § 2
(A) TS (B) *rme

€) ¥ = (D) =7

(2)M-24001(TR)-D 19 P.T.O.



43. Which one is not a function in MS-Excel ?
(A) SUM (B) MAX
(C) COUNT (D) AVG
THUE.-THd § SHHE TH FHRE TEl © 2
(A) SUM (B) MAX

(C) COUNT (D) AVG

44, PowerPoint is used for :
(A) Presentation (B) Calculations

(C) Scientific calculations (D) Merging Letters
UeRTEE H ST fEAr W@ € e

(A) wgfa & feg (B) T % feg

(C) =fw o & oo (D) @edi & foom & fau

45. MS-Excel can be used for :
(A) Mathematical calculations (B) Merging equations
(C) Algebraic equations (D) Differential equations
THUG.-THa &1 ST fFa S gEkal © o:
(A) TIfordE et % faw (B) wHiEwn & foeorm & fag
(C) demforda @l & fau (D) esha @l & fou

(2)M-24001(TR)-D 20



INTERNET, HTML/DHTML

46. In HTML, the tags are :
(A) in uppercase (B) case-sensitive
(C) in lowercase (D) not case-sensitive
HTML #, 1 8 &
(A) oW *F H (B) #Hu-dfafed

(C) <lsad o (D) =u-dfafea ==

47. HTML is a/an :

(A) Web design language (B) Scripting language
(C) Assembly language (D) Compiler language
HTML ® T

(A) a9 fesgd s (B) fosfen am

(C) sr¥acft (D) HEEER W

48. What is Phishing ?
(A) Someone sends legitimate-looking e-mails to users
(B) It uses networks to search out computers
(C) Re-directs the user to a fake website
(D) A keylogging software

(2)M-24001(TR)-D 21 P.T.O.



49.

50.

51.

ffeim @ T 2

(A) #E =aft IwRalel w1 Ay Ren o9 $-da O @
(B) & Fg H @ & fau Jead #1 SWEM FRar @
(C) STANHAl =l TH el aAsdEe W YA:FERT W@ @

(D) W& SHIAMT FwRAT

VPN stands for :

(A) Virtual Public Network

(C) Virtual Post Network

Ao w oed g e

(A) agTad ufsctsr ok

(C) d9sTal URe Hedsh

(B)
(D)

(B)
(D)

The term “bandwidth” is related to :

(A) Internet connection

(C) XML

‘defagy’ W w1 Hew ©

(A) e FARE d
(C) T .ua.Ud. §
DHTML stands for :

(A) Dynamic HTML
(C) Distributed HTML

DHTML @1 &4 2

(A) Dynamic HTML

(C) Distributed HTML

(2)M-24001(TR)-D

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

22

Virtual Private Network

Vital Public Network

IYeTd URAe edd
gEeA  UfsaAd  Heawd

Compiler design

Microprocessor

FER fesred @

TRHRETR o

Deep HTML

Dummy HTML

Deep HTML

Dummy HTML



52. Which one is the HTML document’s root tag ?
(A) <head> (B) <body>
(C) <title> (D) <html>
HTML TEES & & &1 &6 ¢ 2
(A) <head> (B) <body>

(C) <title> (D) <html>

53. Which protocol is used for sending e-mails ?
(A) HTTP (B) DNS
(C) FTP (D) SMTP
A o & fau fFE uema w1 swEm fEn S g 2
(A) HTTP (B) DNS

(C) FTP (D) SMTP

54. Which of these doesn’t support the MP3 format ?
(A) Opera (B) Safari
(C) Chrome (D) Firefox
T ¥ ®AW MP3 WiHe ® WU & w@ B ?
(A) 39T (B) HwR

(C) M (D) PRI

(2)M-24001(TR)-D 23 P.T.O.



55. Which of these entities is not defined in the XML ?
(A) apos (B) quot
(C) copy (D) gt
T ¥ FEE TR XML ¥ uffim W@ €2
(A) apos (B) quot

(C) copy (D) gt

56. HTML is used in :
(A) Web application development (B) Code optimization
(C) Compiler design (D) Address modes
HTML w1 wam fen s 2 .
(A) 39 s faem (B) wHie IHer H
(C) wEerR fesea # (D) wwEH HEe H

57. Which HTML tag do we use to display text along with a scrolling effect ?
(A) <div> (B) <scroll>
(C) <marquee> (D) <<<marquee>>>

THE H R gWE ® WY Wkl w0 & fau 'w fF® HTML 20 &
ST & T ?

(A) <div> (B) <scroll>

(C) <marquee> (D) <<<marquee>>>

(2)M-24001(TR)-D 24



58. The term “HTTP” is related to :
(A) Hyper Text Transfer Protocol
(B) Hyper Term Transfer Protocol
(C) Hyper Text Transition Protocol
(D) Hyper Text Transformation Protocol
“HTTP” ¥ & TR ¥
(A) TRW THS ZAHE WIhid |
(B) BEW H IJEE Wkl o
(C) TEW R CifevH dieihia 9
(D) BEW TR THHHEIA UHA 9

59. The term “WWW?” stands for :
(A) World Wide Web (B) World Vide Web
(C) World Wide Websites (D) World Wide Web Applications
“WWW” T & et 7
(A) World Wide Web (B) World Vide Web

(C) World Wide Websites (D) World Wide Web Applications

60. Which tag do we use in HTML for inserting a line-break ?
(A) <a> (B) <br>
(€) <b> (D) <pre>

HTML § oEd-9% Sod & fou eq feg o0 &1 Swm &@ & 2

(A) <a> (B) <br>

(C) <b> (D) <pre>

(2)M-24001(TR)-D 25 P.T.O.



WINDOWS AND COMPUTER FUNDAMENTALS

61. Which of the following is nof a valid file extension in Windows ?

(A) .exe (B) .txt
(C) .sys (D) .bat
frafafad & @ wFw fHeN 4 ©h 99 A THEeyH W@l € 2
(A) .exe (B) .txt
(C) .sys (D) .bat

62. What is the primary role of RAM (Random Access Memory) in a computer ?
(A) Temporary storage for data and programs
(B) Graphic processing
(C) Power supply
(D) Long-term storage
FoX A W (En Ry wEl) & wefis gfter @ @2
(A) BRI R WuM & fou owemt weno

(B) Uifheh GH@RI

(C) faset 3Tl'l1ﬁ
(D) SIhIfeeh WSROI

63. What is the role of the ‘Firewall’ in computer security ?
(A) Protect against physical theft
(B) Monitor network traffic and block unauthorized access
(C) Manage printer settings

(D) Enhance display resolution

(2)M-24001(TR)-D 26



64.

65.

FN G o wERA’ # oF gfaw § 2
(A) difdsr =10 @ @ W

(B) #eam fhe 1 fARE we R erfugd W H Aw

(C) U dfewm wafym =e

(D) fermi fETeREME  @@M

The binary equivalent of the decimal number 10 is :

(A) 1001 (B) 1100
(C) 0110 (D) 1010
AT e 10 w1 fgenud duged ¥ e

(A) 1001 (B) 1100

(C) 0110 (D) 1010

A user reports receiving frequent pop-up advertisements while browsing in Google

Chrome. You suspect a browser hijacker might be active. Which Windows tool

provides detailed information about browser extensions and potentially unwanted

programs, allowing you to identify and remove the culprit ?

(A) Task Manager
(B) Event Viewer
(C) Control Panel (Programs and Features)

(D) Windows Defender Security Centre

(2)M-24001(TR)-D 27

P.T.O.



66.

67.

TH IR A HE A FSE Hd I aR-aR U9- 79 faRm ura &
# RO @ 8 | Ul GeE ¢ fF oSSR Uevihdl WiEd B gwdl e |
HE foes a0 GRSk TEHeyH R gewifad  ofdifzd wumel & 4R o

=N

foegd WMl WSH Al €, TEd oY STquEi wi WewH W SE B Wehd
g2

(A) ®@ YaHS

(B) e W

(C) e %8 (FefFd oiR g

(D) foers fews wam =%

Which of the following is a characteristic of an SSD (Solid State Drive) compared
to an HDD (Hard Disk Drive) ?

(A) No moving parts (B) Slower access speed

(C) Magnetic storage (D) Larger physical size

HDD (3 fe=F Tma) = go o SSD (Wifee w2 gra) =i fr=Afafea
d 9 HAd uw fagivar € 2

(A) ®E Tfaeier 9w & (B) i wgw g
(C) Jo wHero (D) == Hfas MER
A half-byte is called a :

(A) Half-nibble (B) Bit

(C) Nibble (D) Word size
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68.

69.

70.

MY AEe F OHE W T e
(A) BH-faa B) fae
(C) fra@ (D) o€ WES

The term GHz is an indicator of which feature of the computer ?

(A) No. of pixels (B) Speed

(C) Screen Resolution (D) Storage

GHz W= ®9R *I feg favma & gu& 2 2
(A) fod@ =t gen (B) Tifa
(C) A fisiegem (D) wWRe

Which of the following is not processing ?

(A) Arranging (B) Manipulating
(C) Gathering (D) Calculating

frafafes & 9@ wF@ gEEor T@og 2

(A) =Tl HE (B) THX &HA

(C) §U8 & (D) TOET &

Software and Hardware is connected through :

(A) Operating Systems (B) Surface

(C) Interdiction (D) Address Mode

FHaR AR TERR fRus Wem 9§ 'gu § 2
(A) sAtqfen fawm (B) U@
(C) Zetfewm (D) TwEE HiE
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NETWORKING

71. What is a computer network ?
(A) A device used to display information on a computer screen

(B) A collection of interconnected computers and devices that can communicate

and share resources
(C) A type of software used to create documents and presentations

(D) The physical casing that protects a computer’s internal components

AN ATh B 7

(A) IR G W o WRIA w0 & fau Swm fen SH aen sy
(B) WoR T2 HH R SUHCH #1 TH FUE S GOEH Kl FEAR AR
TR F GhHAT @

(C) TF R w1 WRIR fSos M @es R wgfdal a1 & foau
b S @

(D) ifder oTeRU W FEAX ® AANE TSHl H LT HE @

72. What is the full form of OSI ?
(A) Optical Service Implementation
(B) Open Service Internet
(C) Open System Interconnection

(D) Operating System Interface
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73.

74.

AMuESE H Pl w4 FM T 2
(A) eiifcera afda  soclideyH
(B) 3iivd wfeg gee

(C) oiq famn shIRH
(D) sifmfén fawen Ixwg

How many layers are there in the ISO OSI reference model ?
(A) 7 B) 5

(€) 4 (D) 6

FETEEA. ATEIE wed Hied § fRef wd ¥ 2

(A) 7 (B) 5

(€) 4 (D) 6

Which one of the following is nof a function of the network layer ?
(A) Congestion Control

(B) Error Control

(C) Routing

(D) Inter-networking

frfafed & @ ®FE eaw W H TH kA @l 8 2

(A) FRH FHere

(B) TR e

(C) w&fem

(D) -t
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75.

76.

77.

How is a single channel shared by multiple signals in a computer network ?
(A) Multiplexing (B) Phase modulation

(C) Analog modulation (D) Digital modulation

FIR Yook H T @ 9 B FE gl g w9 gEn A oS 72
(A) TEEHT FR (B) =RV WIS g

(C) TR AR R (D) fefsem wfeyerm gw

What is the term for an endpoint of an inter-process communication flow across

a computer network ?

(A) port (B) machine

(C) socket (D) pipe

FAH Headh W HA-URRA §OR wEE &% wud fag % faw ws @ @2
(A) T (B) A

(©) Wiz (D) e

Which protocol is used for secure transmission over a computer network ?
(A) FTP (B) SNMP
(C) HTTPS (D) SMTP

FN ook W Yfwa A & fau fem demia @ swEm fe S
z 2

(A) FTP (B) SNMP

(C) HTTPS (D) SMTP
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78.

79.

80.

Which topology requires a multipoint connection ?

(A) Ring (B) Bus

(C) Star (D) Mesh

frg adiersi & fou Aediise wERE i SEvASdal ekl ® 7
A) fa (B) =9

(€) =R (D) =™

Which of the following is the network layer protocol for the internet ?
(A) Hypertext transfer protocol

(B) File transfer protocol

(C) Ethernet

(D) Internet protocol

frefafed & 9 ®FE gete % fau Geaw @R Wik € 2
(A) TRULHFZ ZAEHEL Hhic

(B) A TEWL Wiwhict

(C) o

(D) ¥ WrRHid

What type of transmission is involved in communication between a computer and

a keyboard ?

(A) Half-duplex (B) Full-duplex
(C) Simplex (D) Automatic
FO AR FEE & g GEArR o few R w0 gEfeE wite em @2
(A) FH-goiFa (B) Tel-gwle
(C) Tareiad (D) eiemfe®
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PROJECT MANAGEMENT

81. Which of the following is not a project management goal ?
(A) Keeping overall costs within budget
(B) Delivering the software to the customer at the agreed time
(C) Maintaining a happy and well-functioning development team
(D) Avoiding customer complaints
frafafed § @ FFw ufdieT gEuR dem T8 7 2
(A) A M@ Hl d9E &H HIR @A

(B) Weskh HI T AT W HHITR TgAMl

(C) T% GUEE R =8t @ d &M %W ol faed 3| & s W@
(D) el & Rl @ ==

82. Which of the following is nof considered a risk in project management ?
(A) Specification delays
(B) Product competition
(C) Testing
(D) Staff turnover
frafafea & ¥ fF9 wfeiem e § Sifew & @mr s @2
(A) fafgmear o <&
(B) 3w Wit
(C) e
(D) W% THsTeR
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83. The process each manager follows during the life of a project is known as :
(A) Project Management
(B) Manager life-cycle
(C) Project Management life-cycle
(D) Software cycle

Rt ufEie & Seel ® AR Udd Yaus 9 WiRAl H1 Ul
2, 3§ ¥ FE W T ?

(A) Ui gEEA

(B) WEu& Sied-=

(C) df@sFAT yaea  Sfaa-=w
(D) WRITR =F

84. In SWOT Analysis, SWOT stands for :
(A) Strengths, Worldwide, Opportunities and Threats
(B) Strengths, Weaknesses, Opportunities and Threats
(C) Strengths, Worldwide, Optimization and Threats
(D) Strengths, Weaknesses, Opportunities and Transport
SWOT faweiwor ®, SWOT =1 @19 ¥
(A) Strengths, Worldwide, Opportunities and Threats
(B) Strengths, Weaknesses, Opportunities and Threats
(C) Strengths, Worldwide, Optimization and Threats

(D) Strengths, Weaknesses, Opportunities and Transport
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85.

86.

87.

Which of the following is the incorrect activity for the configuration management

of a software system ?

(A) Internship management (B) Change management

(C) Version management (D) System management

fpdt wiwea faen & #fwned w&w & fau fefafes & @ =6
nfafafs @ ¥ 2

(A) AR yEEA (B) UREdd waed

(C) H&RU gaud (D) fowd w&A

What is the primary purpose of a Gantt chart in software project management ?
(A) To visualize task dependencies and deadlines

(B) To track bugs and issues

(C) To manage technical resources

(D) To document software requirements

W) g yEed W e W w1 wefdw Sevd @ © 2

(A) &M@ frfear @R goagim <9

(B) & @R W H oF T

(C) Tt TEEAl *1 YaEF B

(D) GifeasR STEavaharsi 1 IEAESIHI  Hl

The terms "PERT" and "CPM" are related to :

(A) Project management (B) Software management
(C) Quality planning (D) Defect management
v CdiEemd e Cwidium’ wefud € e

(A) Ui gyaua 9 (B) WwRR T&rd 9
(C) " fEeE | (D) ¥9 wEEd 9
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88. In which of the following phases is the project schedule developed ?

(A) Conceptual (B) Planning

(C) Implementation (D) Design

frofefan § 9 fFg s 4 ufeioAn sEgH fowfad @ W 8 2
(A) =i (B) ASAT =AM

(C) M=o (D) fesiza

89. SDLC stands for :
(A) Software Development Life-cycle
(B) System Development Life-cycle
(C) Software Design Life-cycle
(D) System Design Life-cycle
WA #w oad 7 .
(A) TR faw™ Saa-=%
(B) faww fowm Siaa-=®
(C) wigeaR fesea Sfed-=h
(D) faeew fesmed Sfiaa-=sh

90. What is the first step in Project Planning ?
(A) Establish the objectives and scope
(B) Determine budget constraints
(C) Exploring deliverables
(D) Determine the budget
ufEer fEee § gem o @ ® 2
(A) Teg R & wifaq wen
(B) @eie @t wHt fAuif@ &em
(C) fefaemem =1 @& &L
(D) =ste fawif@ &en
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H/W CONCEPT

91. The compiler can identify the following mistakes :
(A) Logical errors (B) Syntax errors

(C) Semantic errors (D) None of these

FmEeR FrEfdafed Ifedl # TEER W wR@ 7o

(A) dfwew  Ffear (B) arfe=mg  Ffeat
(C) vr=1ed gefeft Ffear (D) ™ ¥ HE TEf
92. In the event of a power outage, a...............gives your computer battery backup

power in addition to surge protection.
(A) Surge strip

(B) USB

(C) UPS

(D) Battery strip

TR ASed H feafa o HTH HIAR F TS WERM H @ Al
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93. What is the full form of GUI ?
(A) Graphical User Interface
(B) Games User Interface
(C) Graphic Unified Interface
(D) Graphic Unit Interface
WAME *H YU ®Y FM T ?
(A) WfFshed R ARG
(B) T IS EHH
(C) wfesr IfTFEE ooy

(D) Wfheh e Fowd
94. A computer comprises two types of memory namely Random Access Memory
(RAM) and :
(A) Read Only Management (ROM)
(B) Read Only Memory (ROM)
(C) Read Onto Memory (ROM)
(D) Reader Only Memory (ROM)
TF FR W Y YRR H OWEH e § AUlq oW wRE WER (RAM)
IR
(A) e sfiFelt e (ROM)
(B) Te et #®RI (ROM)
(C) fe @z "8’ (ROM)
(D) =X sfFelt AR (ROM)
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95. Thrashing occurs in a system when :
(A) the processes on the system access pages and not memory frequently
(B) a page fault pops up
(C) the processes on the system are in a running state
(D) the processes on the system are in the waiting state
foem o 9fom @@ et €, =
(A) faen W gfEad IR-SR Ui q% Teudl € 4 fF 99l 9%
(B) T U=® U GEA AWM 2
(C) fawn W ufwad =g feafa &
(D) foem W ufEFad wden feafa & =

96. The page fault occurs whenever :
(A) the requested page isn’t in the memory
(B) the requested page is in the memory
(C) an exception is thrown
(D) the page is corrupted
U8 W q& Bl € &
(A) oTUfd g8 Ol o T €
(B) o ufed g A9t H ®
(C) Th oIqag e fean 2
(D) 7% 3@ 2
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97. In every entry of a page table, the essential content(s) is/are :
(A) Page frame number
(B) Virtual page number
(C) Both page frame number and virtual page number
(D) Accessing the right information
U3 difeel ® gl gfafte o, orEvas wnni ¥
(A) U ®HH FH
(B) agst@ US R
(C) U8 ®H F @R ageiel U9 A Qi

(D) ¥&t JM&R q% TEa

98. Arrange Terabyte (TB), Zettabyte (ZB) and Gigabyte (GB) in increasing order :
(A) TB, GB, ZB
(B) TB, ZB, GB
(C) ZB, TB, GB
(D) GB, TB, ZB
EEe (TB), wem®Ee (ZB) R TimeEe (GB) 1 wed %H W oydied
FHifeIg
(A) TB, GB, ZB
(B) TB, ZB, GB
(C) ZB, TB, GB

(D) GB, TB, ZB
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99. Out of the following, which one needs a device driver ?
(A) Main memory
(B) Disk
(C) Register

(D) Cache

frafafad o @ fra feasg SR &1 sERFsal edt € 2
(A) FE1 HER

(B) few=

(C) o=

(D) 1

100. Which of these doesn interrupt a running process ?
(A) Power failure
(B) Scheduler process
(C) Timer
(D) A device
T ¥ FA FA W OUWEA F oafud WE wa § 2
(A) uifr  fadmerar
(B) qHAF HfshA
(C) aTem

(D) TH IIH
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ARTIFICIAL INTELLIGENCE

101. The computer program simulating the thought process of humans is known as :
(A) Expert reason
(B) Personal information
(C) Expert system
(D) Human logic
9 & R 9fEa ST R A wEIR WU H FEl W °
(A) THTE {5
(B) &AfHT SHEM
(C) foriom ot
(D) HFeE dh

102. Natural language processing has two subfields, namely :
(A) Algorithmic and heuristic
(B) Time and motion
(C) Understanding and generation
(D) Symbolic and numeric
Wihfdeh WM YEERO % § SuSsl % AW © :
(A) Terifem @R i
(B) T3 R Tfa
(C) §ww IR i

(D) Wishfdeh TH HEATHS

(2)M-24001(TR)-D 43 P.T.O.



103. The bidirectional feedback loop helps link the computer modelling with :
(A) cognitive science (B) human intelligence

(C) heuristic processing (D) artificial science

fofewr wess qu Fmgm wiefan & fefafead & @ et d weg #@
2

(A) FaFes  famm (B) #a Ffs

(C) /=l wEHwER (D) Fbm faam

104. The technique of computer vision that relies on the image templates is known

as:

(A) model-based vision
(B) binocular vision
(C) robot vision

(D) edge detection

FR foaoH # a8 dhdle W Bfd Seled W R wdl B, weemd 8

(A) HAlea-ske fas

(B) arEAmher o
(C) Vare fas=

(D) TS feewmmM
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105. ..

106.

ceeeennnne.OF modelling is the method using which we program a computer to exhibit

human intelligence.

(A) Simulation (B) Psychic Amelioration

(C) Duplication (D) Cognization

] WSl qE fafy ¥ fwE TN e e WA afE w1 W
A B fau wwE W odum wa §

(A) STTHTT (B) WHfe® FHR

(C) T&a (D) W

The Computer-Assisted Instruction (CAI) technique based on the programmed
instruction is :

(A) Problem-solving CAI

(B) Generative CAI

(C) Intelligent CAI

(D) Frame-based CAI

FORf e W oo FrgeR-afees R (WUE) s € o
(A) TUE GUYE  HLUSE.

(B) wifed iyt

(C) Ffeam L.

(D) HH-3THIRG  HI.T3TE.
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107. The Automatic Reasoning Tool (ART) can be used on :
(A) microcomputers (B) LISP machines
(C) personal computers (D) system software

wHlferd 49T 2d (TRA) &1 S fFn s dahar © o

(A) HEHEHRY W (B) T@.SETEH. WA |
(C) THTd & W (D) fawm deal =
108. ..............s the mathematical foundation that solves the problem of representing

data as well as computations in machine learning models.
(A) Linear Algebra

(B) System Software

(C) Axioms

(D) Trigonometry

ceeen g TMORAA SUR W WA AR Wed W SRl ok We-wi ToEst
F YD HE K GEA K TA HW € |

(A) @ e

(B) fa=n wiwam

(C) sifwEm

(D) faeprorfafa
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109. The elementary units of a language that are smaller than a word is known

as :
(A) Mode (B) Address Mode
(C) Cache (D) Syllables

Rt 9 ® URfYE TEEAl, S s ¥ B e §, Fedd © o
(A) HIE (B) TSH W

(C) &w (D) focifaey

110. The term "training and testing dataset" is related to :
(A) Optimization techniques
(B) Artificial Intelligence
(C) Fog computing
(D) Operating system
= oo SR e eeme’ wefia ¥
(A) eAfferdree e |
(B) iy fasta w
(C) ®M wFgfen 49
(D) simfén fawm =
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SYSTEM ANALYSIS AND DESIGN

111. System design is carried out :
(A) as soon as system requirements are determined
(B) whenever a system analyst feels it is urgent
(C) after the final system specifications are approved by the organization

(D) whenever the user management feels it should be done
faen fesgd fem s 2
(A) S8 @ faed smEvawad feike wt S @

(B) @ i fwet fawen favews = o ? fF 7@ e @
(C) eiftm famn fafdeil = ¥med gm emHfka fee o & 4
(D) W& S SYANRdl YEEA & @ f& wE feen W ow=nfeg

112. The main objective of system evaluation is to :
(A) see whether the system met the specification
(B) improve the system based on operational experience for a period
(C) remove bugs in the programs
(D) assess the efficiency of the system
(A) 78 e fe fawen fafdel & @ @ @
(B) T&% @y & fau ufEmed sH¥a & YR W Yol H gEUR HE
(C) wom™ o & &I

(D) fa=q = & &1 3Mhed  HET
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113.

114.

Which of the following appropriately explains the desirable characteristic of good

system design ?

(A) Modular approach
(B) Proper documentation
(C) Conversion

(D) Long discussions

fefafad § 4@ S o= faen fesa &t aieda favma = sfaq =men

F@ T ?

(A) Hieer  gfteshro

(B) 3Sfua I=masienton
(C) T

(D) < faa=m

The primary objective of system design is to :
(A) design the programs, databases and test plan
(B) design only user interfaces

(C) implement the system

(D) find out how the system will perform
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faen feard &1 wafis 2w © .

(A) 9, SIeE SR wHew A fesEd
(B) ®ad TR ITA®Y fesied &

(C) 9omell @] Al

(D) foen @ we3H ®ET A@

115. DFD stands for :

(A) Data Flowing Design
(B) Data Flow Design
(C) Data Flow Diagram
(D) Data Final Design
IR 0 B D I
(A) T el fesTed
(B) Tl il fewmed
(C) ErI Wil T
(D) 1 wreda fesmed
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SQL SERVER

116. What are all the identifiers in an XQuery known as ?
(A) QFor (B) Qidt
(C) QName (D) Name
XQuery ¥ |l wgwEwhdiei ® FNM wHel W € ?
(A) QFor (B) Qidt

(C) QName (D) Name

117. What does the acronym ‘SQL’ stand for in SQL Server ?
(A) Structured Query Language
(B) Simple Query Language
(C) Server Query Language
(D) Systematic Query Language

SQL @R # ‘SQL’ = Giw w9 w1 ® ?

(A) EFR &l e

(B) fama #&a& <t

(C) TR T= o

(D) fa=dfews 8 o
118. Which of these statements can we check for Errors ?
(A) INSERT (B) DELETE

(C) DROP (D) CREATE
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0T 4 fFE wem d ffedl w1 Wiw W GEd © 2
(A) INSERT (B) DELETE

(C) DROP (D) CREATE

119. Which SQL Server statement is used to add a new record to a table ?
(A) UPDATE (B) INSERT INTO
(C) ADD RECORD (D) MODIFY

frdt afeer & T R wiegd % fouw fFg SQL ¥R WeHe & IWEm

P S © 2
(A) UPDATE (B) INSERT INTO
(C) ADD RECORD (D) MODIFY

120. Which of these would hold some set of temporary data ?
(A) Msdb (B) Tempdb
(C) Master (D) Northwind
T 9 FH Ul SR H % U W ?
(A) THEHET (B) et

(C) A= (D) Fredfae
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